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Questions

A company has 10 software engineers and 6 civil engineers. In how many ways can a committee of 4 engineers
be formed from them such that the committee must contain at least 1 civil engineer?

(A) 1640

(B) 1630

(C) 1620

(D) 1610

From a group of 8 women and 6 men, a committee consisting of 3 men and 3 women is to be formed. In how
many ways can the committee be formed if two of the men refuse to serve together?

(A) 1020

(B) 640

(©) 712

(D) 896

A box contains 12 black balls, 7 red balls and 6 blue balls. In how many ways can one or more balls be
selected?

(A) 696

(B) 728

(C) 727

(D) 896

There are 12 copies of Mathematics, 7 copies of Engineering, 3 different books on Medicine and 2 different
books on Economics. Find the number of ways in which one or more than one book can be selected?

(A) 3421

(B) 3111

(C) 3327

(D) 3201

Ten years ago, P was half of Q's age. If the ratio of their present ages is 3:43:4, what will be the total of their
present ages?

(A) 4545

(B) 4040

(C) 3535

(D) 30

A man is€24 years older than his son. In two years, his age will be twice the age of his son. What is the present
age of his son?

(A) 23years

(B) 22years

(C) 21€pyears

(D) 20@years

On sellingp 1 7€balls at€@Rs.€p720 there is a loss equal to the cost price of€@5€pballs. What is the cost price of
a ball?
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(A) Rs.@43

(B) Rs.€60

(C) Rs.@55

(D) Rs.@34

Arun bought a computer with€15%€pdiscount on the labelled price. He sold the computer for€Rs.€2880
with€20%profit on the labelled price. At what price did he buy the computer?

(A) Rs.€3000

(B) Rs.€2080

(C) Rs.€2040

(D) Rs.€2000

What is the difference between the compound interests on Rs. 5000 for 1'/4€pyears at 4% per annum
compounded yearly and half-yearly?

(A) Rs. 2.04
(B) Rs. 4.80
(C) Rs. 3.06

(D) Rs. 8.30

There is 80% increase in an amount in 8 years at simple interest. What will be the compound interest of Rs.
14,000 after 3 years at the same rate?

(A) Rs.3794

(B) Rs.3714

(C)Rs.4612

(D) Rs.4634

The difference between simple interest and compound on Rs. 2400 for one year at 10% per annum reckoned
half-yearly is:

(A)Rs. 4

(B)Rs. 6

(O)Rs. 3

(D) Rs. 2

15th August, 2010 falls on
(A) Thursday

(B) Sunday

(C) Monday

(D) Saturday

The calendar for the year 2007 will be the same for the year
(A) 2017
(B) 2018
(©)2014

(D) 2016
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A man on the top of a vertical observation tower observes a car moving at a uniform speed coming directly
towards it. If it takes 8 minutes for the angle of depression to change from 30€p to 45€p, how soon after this will
the car reach the observation

(A) 8 min 17 second

(B) 10 min 57 second

(C) 14 min 34 second

(D) 12 min 23 second

The top of a 15 metre high tower makes an angle of elevation of 60€ with the bottom of an electronic pole and
angle of elevation of 30€p with the top of the pole. What is the height of the electric pole?

(A) 5 metres

(B) 8 metres

(C) 10 metres

(D) 12 metres

A pump can fill a tank with water in 2 hours. Because of a leak, it took 2 2/3 hours to fill the tank. The leak can
drain all the water of the tank in

(A) 6 hours
(B) 8 hours
(C) 9 hours

(D) 10 hours

The product of two 2 digit numbers is 2028 and their HCF is 13. What are the numbers ?

(A) 26,78

(B) 39, 52

(C) 13, 156

(D) 36, 68

A, B and C start at the same time in the same direction to run around a circular stadium. A completes a round in
252 seconds, B in 308 seconds and C in 198 seconds, all starting at the same point. After what time will they
again at the starting point?

(A) 36 minutes 22 seconds

(B) 46 minutes 22 seconds

(C) 36 minutes 12 seconds

(D) 46 minutes 12 seconds

What is the least multiple of 7 which leaves a remainder of 4 when divided by 6, 9, 15 and 18 ?
(A) 364

(B) 350

(C) 343

(D) 371

A train passes a platform in€p36€pseconds. The same train passes a man standing on the platform
in€20€pseconds. If the speed of the train is€p54€pkm/hr, The length of the platform is

(A) 200€pmetre

(B) 280€pmetre

(C) 240@metre
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(D) None of these

Two trains having equal lengths, take€p1010€seconds and€) 1 5€pseconds respectively to cross a post. If the
length of each train is€y120€pmetres, in what time (in seconds) will they cross each other when travelling in
opposite direction?

(A) 10

(B) @25

©) 12

(D) 20

A container contains a mixture of two liquids P and Q in the ratio 7 : 5. When 9 litres of mixture are drawn off
and the container is filled with Q, the ratio of P and Q becomes 7 : 9. How many litres of liquid P was contained
in the container initially?

(A)23

(B)21

©) 19

(D) 17

John bought 20 kg of wheat at the rate of Rs.8.50 per kg and 35 kg at the rate of Rs.8.75 per kg. He mixed the
two. Approximately at what price per kg should he sell the mixture to make 40% profit at the cost price?
(A)Rs.12

(B)Rs.8

(C)Rs.16

(D) Rs.20

A watch which gains uniformly is 2 minutes low at noon on Monday and is 4 min 48 sec fast at 2 pm on the
following Monday. When was it correct?

(A) 2 pm on Tuesday
(B) 3 pm on Wednesday
(C) 2 pm on Wednesday

(D) 3 pm on Tuesday

A clock strikes 4 taking 9 seconds. In order to strike 12 at the same rate, the time taken is
(A) 33 seconds
(B) 30 seconds
(C) 36 seconds

(D) 27 seconds

What smallest number should be added to 8444 such that the sum is completely divisible by 7 ?
(A)6
B)5
©4

D)3

If a whole number n is divided by 4, we will get 3 as remainder. What will be the remainder if 2n is divided by 4
N

(A)4

(B)3
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(D) 1

Difference between the squares of two consecutive odd integers is always divisible by

(A)8

B)7

©)6

(D)3

When a number is divided by 13, the remainder is 6. When the same number is divided by 7, then remainder is
1. What is the number ?

(A) 243

(B) 253

(©) 312

(D) None of these

Rahul went to a shop and bought things worth Rs. 25, out of which 30 paise went on sales tax on taxable
purchases. If the tax rate was 6%, then what was the cost of the tax free items?

(A)Rs. 15

(B)Rs. 12.10

(C)Rs. 19.70

(D) Rs. 16.80

The population of a town increased from 1,75,000 to 2,62,500 in a decade. What is the average percent increase
of population per year?

(A) 4%

(B) 6%

©) 5%

(D) 50%

A student has to obtain 33% of the total marks to pass. He got 125 marks and failed by 40 marks. The maximum
mark is

(A) 600

(B) 500

(C) 400

(D) 300

How many litres of pure acid are there in 8 litres of a 20% solution?

(A) 2 litres

(B) 1.4 litres

(O) 1 litres

(D) 1.6 litres

30% of the men are more than 25 years old and 80% of the men are less than or equal to 50 years old. 20% of
all men play football. If 20% of the men above the age of 50 play football, what percentage of the football
players are less than or equal to 50 years?

(A) 0.6

(4)
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(B) 0.7

(©)0.8

(D) 0.9

A can do a particular work in 6 days . B can do the same work in 8 days. A and B signed to do it for Rs. 3200.
They completed the work in 3 days with the help of C. How much is to be paid to C?

(A) Rs. 380

(B) Rs. 600

(C) Rs. 420

(D) Rs. 400

A can do a piece of work in 4 hours . A and C together can do it in just 2 hours, while B and C together need 3
hours to finish the same work. B alone can complete the work in --- hours.

(A) 12 hours

(B) 6 hours

(C) 8 hours

(D) 10 hours

A completes 80% of a work in 20 days. Then B also joins and A and B together finish the remaining work in 3
days. How long does it need for B if he alone completes the work?

(A) 37 @ days

(B) 22 days

(C) 31 days

(D) 28 days

A and B can finish a work in 30 days if they work together. They worked together for 20 days and then B left. A
finished the remaining work in another 20 days. In how many days A alone can finish the work?

(A) 60

(B) 50

(C) 40

(D) 30

If daily wages of a man is double to that of a woman, how many men should work for 25 days to earn
Rs.14400? Given that wages for 40 women for 30 days are Rs.21600.

(A) 12

(B) 14

©) 16

(D) 18

There is a group of persons each of whom can complete a piece of work in 16 days, when they are working
individually. On the first day one person works, on the second day another person joins him, on the third day

one more person joins them and this process continues till the work is completed. How many days are needed to
complete the work?

(A) 3@1/4€days
(B) 4@ @ -@days
(C) 5@ @pdays

(D) 6Ysdays
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Which figure will come in the blank space 1, 8, 27, 64, 125, 216, (....)
(A) 354
(B) 392
(C) 343

(D) 245

Which figure will come in the blank space 8, 24, 12, 36, 18, 54, (....)

(A) 27

(B) 68

(C) 108

(D) 72

John gets on the elevator at the€p14th€pfloor of a building and rides up at the rate of€84€floors per minute.

At the same time, Vinod gets on an elevator at the€p58th€floor of the same building and rides down at the rate
of@92@floors per minute. If they continue travelling at these rates, then at which floor will their paths cross?

(A) 38

(B) 36

(C)32

(D) 35

Eight people are planning to share equally the cost of a rental car. If one person withdraws from the arrangement
and the others share equally the entire cost of the car, then the share of each of the remaining persons increases
by:

(A)2/5

(B) 1/8

(C)2/7

D) 177

In a garden, there arc€p10€@rows and€p12€pcolumns of mango trees. The distance between two trees
is@2@metres and a distance of one metre is left from all sides of the boundary of the garden. What is the
length of the garden?

(A) 30€@metres

(B) 28€pmetres

(C) 26@pmetres

(D) 24€@metres

If ROBUST is coded as QNATRS what would the code ZXCMP represent in ordinary English?

(A) AWDLQ

(B) AYDNQ

(C) BZEOR

(D) YYBNO

If 'eraser' is called 'box', 'box' is called 'pencil’, "pencil' is called 'sharpener’, and 'sharpener’ is called 'bag', what
will a child write with?€p

(A) Eraser

(B) Bag

(C) Pencil
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(D) Sharpener

Man : Biography : : Nation : 7€y

(A) History

(B) Geography (A)
(C) People

(D) Leader

A man said to a lady, "Your mother's husband's sister is my aunt." How is the lady related to the man?€p
(A) Grand daughter
(B) Mother (D)
(C) Daughter
(D) Sister
A family consists of six members P, Q, R, X, Y and Z. Q is the son of R but R is not mother of Q. P and R are a
married couple. Y is the brother of R. X is the daughter of P. Z is the brother of P. How many children does P
have?€
A1
®)
(B)4
©3

(D)2

The question is based on the figure given above in which

(1} Rectangle represents Males

(2} Circle represents the urban D)
(3) Square represents the educated

{4} Triangle represents the civil servants

The number indicating the educated urban males

who are not civil servants is

(A)8

B) 11

©) 10

D)9

Direction: The following question contains two statements followed by two conclusions numbered I and II. You
have to consider the two statements to be true, even if they seem to be at variance at the commonly known facts.
You have to decide which of the given conclusions definitely follows from the given statements. Statement:
Some tables are glasses. All trees are tables. Conclusions I. Some trees are glasses I1. Some glasses are trees.
(A) Only I follows (D)
(B) Only conclusion II follows

(C) Either I or II follows

(D) Neither I nor II follows
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Direction: The following question contains two statements followed by two conclusions numbered I and II. You (A)
have to consider the two statements to be true, even if they seem to be at variance at the commonly known facts.

You have to decide which of the given conclusions definitely follows from the given statements Statement :

Many actors are singers.All singers are dancers. Conclusions: I. Some actors are dancers. II. No singer is an

actor.

(A) Only I follows

(B) Only conclusion II follows

(C) Either I or II follows

(D) Neither I nor II follows

e o
[ |

n (2) (3) 4}
Which figure is different?

A1 ®)
B)2

©)3

D)4

There are five books A, B, C, D and E placed on a table. If A is placed below E, C is placed above D, B is
placed below A and D is placed above E, then which of the following books touches the surface of the table 7€
(A)C

(B)B ®)
©A

(D)E

Which word does NOT belong with the others?

(A) Tulip

(B) Rose ©
(C) Bud

(D) Daisy

Choose a pair similar to TAILOR : SUIT from
(A) scheme: agent

(B) editor: manuscript B)
(C) revise:writer

(D) mention:opinion

The hotel is two blocks east of the medical store Market is one block west of the hotel Medical store is west of

the market. If first two statements are true the third is

(A) True

(B) False (A)

(C) Uncertain

(D) Cannot be arrived at

Complete the series Q1F, S2E, U6D, W21(, ...... (D)

(A) Z83B@
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(B) Y66B
(C) Y44B

(D) Y88B

Complete the series: 3F, 6G, 111, 18L, ....
(A)210
(B) 25N
(C)27P

D) 27Q

Direction In the following letter-series is given, in which some letters are missing. The missing letters are given
in the proper sequence as one of the alternatives. Choose the correct alternatives. - bc - - b - aabe

(A) acac

(B) babc

(C) abab

(D) aacc

Direction In the following letter-series is given, in which some letters are missing. The missing letters are given
in the proper sequence as one of the alternatives. Choose the correct alternatives. bca b _aabc a caa

(A) acab

(B) bebb

(C) cbab

(D) ccab

A train 360 m long is running at a speed of 45 km/hr. In what time will it pass a bridge 140 m long?€p
(A) 40s
(B) 45s
(C) 50s

(D) 55s

1,6,13,22,33,7¢

(A) 35

(B) 46

(C)38

(D) 49

In a jar of candies there are 6 more orange candies than green ones and there is only one red candy. If there are
47 candies in the jar, how many orange ones are there?€p

(A)20

(B) 26

(C) 40

(D) 46

*%x%% CASE QN *dekd
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A school has four sections A, B, C, D of Class IX students.
The results of half vearly and annual examinations are shown

in the table given below:

No. of Students
Result
Section A | Section B | Section C | Section D

Students failed in both Exams 28 23 17 27

Students failed in half-yearly y
but passed in Annual Exams 4 1 # 13

Students passed in half-yearly p .
& 17 9 15

but failed in Annual Exams

Students passed in both Exams 64 35 46 76

*%x%% CASE QN *dekd

*%%% CASE QN fdekk

(A) Half yearly examinations were more difficult

(B) Annual examinations were more difficult.

(C) Both the examinations had almost the same difficulty level

(D) The two examinations cannot be compared for difficulty level

A school has four sections A, B, C. D of Class IX students.

The results of half vearly and annual examinations are shown

in the table given below:

If the number of students passing an examination be considered a criteria for comparison of difficulty level of
two examinations, which of the following statements is true in this context?

Mo. of Students
Result
Section A | Section B | Section C | Section D

Students failed in both Exams 28 23 17 27

Students failed in half-yearly ,

but passed in Annual Exams H 12 5 1=

Students passed in half-yearly 4 .

6 17 5 15 D)
but failed in Annual Exams

Students passed in both Exams 64 33 46 76

*kkk CASE QN Kkkk

How many students are there in Class IX in the school?

(A) 336
(B) 189
(C) 335

(D) 430

*kkk CASE QN wkkk

A school has four sections A, B, C, D of Class IX students.
The results of half vearly and annual examinations are shown

in the table given below:

D)

No. of Students
Result
Section A | Section B | Section C | Section D

Students failed in both Exams 28 23 17 27

Students failed in half-yearly y
but passed in Annual Exams 4 1 # 13

Students passed in half-yearly p .
& 17 9 15

but failed in Annual Exams

Students passed in both Exams 64 35 46 76

*%%% CASE QN *dekk
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Which section has the maximum pass percentage in at least one of the two examinations?

(A) A Section
(B) B Section
(C) C Section

(D) D Section

*kkk CASE QN wkkk

A school has four sections A, B, C. D of Class IX students.
The results of half vearly and annual examinations are shown

in the table given below:

No. of Students
Result
Section A | Section B | Section C | Section D
Students failed in both Exams 28 23 17 27
Students failed in half-yearly . ¥ r
but passed in Annual Exams 4 1 8 13
Students passed in half-yearly 6 17 g 15
but failed in Annual Exams e &
Students passed in both Exams 64 35 46 76
fkkk CASE QN fededk
Which section has the maximum success rate in annual examination?
(A) A Section
(B) B Section
(C) C Section
(D) D Section
*kkk CASE QN fddk
A school has four sections A, B, C. D of Class IX students.
The results of half vearly and annual examinations are shown
in the table given below:
No. of Students
Result
Section A | Section B | Section C | Section D
Students failed in both Exams 28 23 17 27
Students failed in half-yearly . , ’
but passed in Annual Exams H 12 8 1=
Students passed in half-yearly 6 17 g 15
but failed in Annual Exams e i
Students passed in both Exams 64 33 46 76

*kkk CASE QN wkkk

Which section has the minimum failure rate in half yearly examination?

(A) A Section
(B) B Section
(C) C Section

(D) D Section

wkkk CASE QN wkkk

"A/An could not exist without

"

Find the word that names a necessary part of the underlined

word in the above statement.

wkkk CASE QN fekkk

A)

D)

D)



Wedding
(A) love
(B) church
(C) ring

(D) marriage

*kkk CASE QN Kkkk

"AfAn could not exist without

Find the word that names a necessary part of the underlined
word in the above statement.

ik CASE QN ##w+
622 4272 Faculty ©
(A) buildings
(B) textbooks
(C) teachers

(D) meetings

wkkk CASE QN fekkk

"AfAn could not exist without

Find the word that names a necessary part of the underlined
word in the above statement.

it CASE QN ##w+
622 4273 Recipe ®)
(A) desserts
(B) directions

(C) cookbook

(D) utensils

*%x%% CASE QN fdekd

"A/An could not exist without

Find the word that names a necessary part of the underlined
word in the above statement.

wwik CASE QN #s
622 4274 Autograph ©
(A) athlete
(B) actor

(C) signature

(D) pen
622 4275 #x%% CASE QN *#%* (A)
"A/An could not exist without o

Find the word that names a necessary part of the underlined
word in the above statement.

*%x%% CASE QN *kkk



622

622

622

622

622

622

4276

4277

4278

4279

4280

4281

Cage

(A) enclosure
(B) prisoner
(C) animal

(D) zoo

Four words are given, of which one does not belong to the group. Find the odd one.
(A) Parsley

(B) Basil

(C) Oregano

(D) Mayonnaise

Four words are given, of which one does not belong to the group. Find the odd one.
(A) Inch

(B) Ounce

(C) Metre

(D) Yard

Four words are given, of which one does not belong to the group. Find the odd one.
(A) Tyre

(B) Engine

(C) Steering Wheel

(D) Car

Which one will replace the question mark?

12\};0 16\2(/40 45@8/27
5] 8 ?
(A)9
(B) 18
(©) 12
(D) 6

Here are some words translated from an artificial language. agnoscrenia means poisonous spider delanocrenia
means poisonous snake agnosdeery means brown spider Which word could mean "black widow spider"?

(A) deeryclostagnos

(B) agnosdelano

(C) agnosvitriblunin

(D) trymuttiagnos

Tom walked 2 km west of his house and then turned south covering 4 km. Finally, He moved 3 km towards east
and then again 1 km west. How far is he from his initial position?

(A) 10km

(B) 9%km

(C) 2km

D)

®)

D)

)

©

D)



(D) 4km

Violatingan Apartment Lease€poccurswhen a tenant does something prohibited by the legally binding document
that he or she has signed with a landlord. Which situation below is the best example of Violating an Apartment
Lease.

(A) Linuhas decided to move to another city, so he calls his landlord to tell him that he is not interested in
renewing his lease when it expires next month.

622 4282 (B) Minu recently lost her job and, for the last three months, has neglected to pay her landlord the monthly rent B)
they agreed upon in writing when she moved into her apartment eight months ago.

(C) Vinu writes a letter to his landlord that lists numerous complaints about the apartment he hasagreed to rent
for two years.

(D) Sunu thinks that her landlord is neglecting the building in which she rents an apartment. She calls her
attorney to ask for advice

FAG, GAF, HAL, IAH,
(A) JAK

622 4283 (B) HAL (A)
(C) HAK

(D) JAI

*kkk CASE QN Kkkk

Direction:
In the sentences below the certain word or phrases is underlined.
Choose the option in which the usage of the word is incorrect

or inappropriate.
dekdk CASE QN dekekk

622 4284 Mahatma Gandbhi lived a noble life of (A) fasting and (B) poverty in order to work for (C) peaceful and (D) (©)
independence .

A A
(B)B
©cC

(D)D

wekkk CASE QN fekkk

Direction:
In the sentences below the certain word or phrases is underlined.
Choose the option in which the usage of the word is incorrect

or inappropriate.
##wk CASE QN *#%

622 4285 (A) A first step in a (B) rationale solution to (C) any problem is the recognition that a (D) problem exists. (A)
(A)A
B)B
©ocC

(D)D

622 4286 wkk% CASE QN *%#%* D)

Direction:
In the sentences below the certain word or phrases is underlined.
Choose the option in which the usage of the word is incorrect
or inappropriate.
fekdk CASE QN dekkk

(A) I will encourage (B) every one of my students (C) to pursue the path of honesty in their (D) life.



622

622

622

622

622

622

4287

4288

4289

4290

4291

4292

(A) A
(B)B
©C

(D)D

wkkk CASE QN Kkkk

Direction:
In the sentences below the certain word or phrases is underlined.
Choose the option in which the usage of the word is incorrect

or inappropriate.
##wk CASE QN ##%

1 (A) missed the train that I (B) usually catch and ( C) have to travel by next which was a (D) slow train.
(A)A

(B)B

©ocC

(D)D

Direction : In the following question, the first word is given in capital letters followed by four other words, one
of which is the synonym of the first word. Find the word CALUMNIATE

(A) To accuse falsely

(B) To accuse truthfully

(C) To denounce

(D) To ditch

Direction : In the following question, the first word is given in capital letters followed by four other words, one
of which is the synonym of the first word. Find the word DELECTABLE

(A) Horrible

(B) Palatable

(C) Disagreeable

(D) Tasteless

Direction : In the following question, the first word is given in capital letters followed by four other words, one
of which is the synonym of the first word. Find the word ADMONISH

(A) To warn

(B) To praise

(C) Abdicate

(D) To cajole

Direction : In the following question, the first word is given in capital letters followed by four other words, one
of which is the synonym of the first word. Find the word BESET

(A) Plead

(B) Perplex

(C) Deny

(D) Clear

Direction : In the following question, the first word is given in capital letters followed by four other words, one
of which is the synonym of the first word. Find the word GAUCHE

(A) Foreign

D)

(A)

®)

(A)

®)
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(B) Stupid

(C) Clumsy

(D) Impartial

Direction : In the following question, the first word is given in capital letters followed by four other words, one
of which is the synonym of the first word. Find the word EPITAPH

(A) Witty saying

(B) Satirical poem

(C) Inscription on the tomb

(D) Seat on the wall

Direction: Choose the appropriate auxiliary verb from among the following to make the sentence meaningful ---
-------- you see Amrita, ask her to call me

(A) must

(B) can

(C) might

(D) should

Direction: Choose the appropriate auxiliary verb from among the following to make the sentence meaningful
Zia’s Engagement ring is huge. It --------- have cost a fortune

(A) must

(B) can

(C) might

(D) should

Direction: Choose the appropriate auxiliary verb from among the following to make the sentence meaningful
Ramu: “-----memm-- you hold your breath for a minute”. Raju: No I cant

(A) must

(B) can

(C) might

(D) should

Direction: Choose the appropriate auxiliary verb from among the following to make the sentence meaningful If
you want to get a better feeling about the countryside you -------- walk downtown and explore yourself

(A) must

(B) can

(C) might

(D) should

Direction: Choose the appropriate auxiliary verb from among the following to make the sentence meaningful
(A) must

(B) can

(C) might

(D) should

Direction: Choose the appropriate auxiliary verb from among the following to make the sentence meaningful I
was scared that if I told her the truth, she --------- not trust me ever again

©

D)

(4)

®)

D)

©

©
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4304

4305

4306

(A) must
(B) can
(C) might

(D) should

Choose the antonyms for the given word Profound
(A) Petty

(B) Shallow

(C) Excessive

(D) Stupid

Choose the antonyms for the given word Subsequent
(A) Eventual

(B) Succeeding

(C) Prior

(D) Comparative

Choose the antonyms for the given word Harass
(A) Flatter

(B) Reward

(C) Relieve

(D) Praise

Choose the antonyms for the given word Glare

(A) Shade

(B) Bright

(C) Painful

(D) See

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) € 1 have passed my BTech in 2016

(B) € I had passed my BTech in 2016

(C) € 1did pass my BTech in 2016

(D) I passed my BTech in 2016

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) He picked up a quarrel on his way
(B) He picked a quarrel on his way
(C) On his way he picked up a quarrel

(D) On the way he picked up a quarrel

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) @€ In this poem, the poet describes about his childhood

®)

©

©

(A)

D)

®)

®)
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(B) In this poem the poet describes his childhood
(C) In this poem the poet describe about his childhood

(D) In this poem the poet described childhood

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) He resembles to his father
(B) He resembles his father
(C) He resembles with his father

(D) He resembled by his father

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) The manager ordered for his dismissal
(B) The manager ordered his dismissal
(C) The manager has ordered for his dismissals

(D) The manager has ordered to his dismissal

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) Both of them did not care for money
(B) Neither of them cared for money
(C) None of them cared for money

(D) None of the above

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) Chair’s legs are broken
(B) The legs of chair are broken
(C) The Legs of the chair are broken

(D) The chairs legs are broken

Choose the expression that is closest to standard English usage among the given choices in the following
sentence

(A) Sorry, I am not understand your point
(B) Sorry, I don’t understand your point
(C) Sorry, I am cannot understand your point

(D) Sorry, I cannot be able to understand your point

In the following question the word at the top is used in four different usages. Choose the option in which the
usage of the word is incorrect or inappropriate MASTER

(A) She could not master the courage to tell her friend about her loss.
(B) She quickly mastered the art of interviewing people.
(C) The terrorist was a master of disguise.

(D) He is the master of his house.

In the following question the word at the top is used in four different usages. Choose the option in which the
usage of the word is incorrect or inappropriate LINE

®)

®)

®)

©

®)

(A)

D)
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(A) Our telephone line is down due to the heavy rain last night.
(B) The students were standing in a line for the Morning Prayer.
(C) His coat is lined with silk.

(D) The teacher cut off his name from the line of Scholarship Awards.

In the following question the word at the top is used in four different usages. Choose the option in which the
usage of the word is incorrect or inappropriate SERVICE

(A) Customers have to service themselves at the canteen

(B) It’s a service lift, don’t get into it. (4)
(C) I am not making enough to service the loan
(D) Jyoti’s husband has been in active service for the last 15 years.
In the following question the word at the top is used in four different usages. Choose the option in which the
usage of the word is incorrect or inappropriate FILE
(A) You will find the paper in the file under C.
. . D)
(B) € I need to file an insurance claim
(C) The cadets were marching in a single file.
(D) When the parade was on, a soldier broke the file
dekkk CASE QN dekkk
Read the passage below and answer the questions below:
India's role on the international stage was moulded by history rather than by the pomp and circumstances of war.
As a separate entity of the British empire, India became a founder member of the League of Nations in the same
Way as Australia and Canada, and thus acquired a somewhat unique international status long before
independence. During the days of the League when India's interests were affected, such as in matters of trade or
the position of Indians overseas, the Indian delegation did not hesitate to make known its independent position,
for what it was worth. Some Indian delegates were. In demand for chairing meetings riddled with contention
and controversy, because of their reputation for impartiality and talent for mediation. These were the small
beginnings of India's later entry into the United Nations in 1945, again as a founder member before
independence. The drafting of Chapter IX and X of the UN Charter, which deal with international social and
economic cooperation, was entrusted to a group that was presided over by an Indian. It is important, however, to
bear in mind that fact that the Government of independent India had no part in the drafting of the UN Charter,
although in accepted the obligations contained therein. The UN was primarily the creation of three powers-The
USA, UK and Russia. The size, population, resources and potential of India lent it the weight of a medium (A)
power in the functioning of the United Nations. The fact that India was among the first nations to liberate itself
from the imperialist domination through non-violent means. Endowed it with a moral obligation to work in and
outside the UN for the independence of nations still under colonial rule. India has served on the Security
Council for 10 years or 5 terms, on the Trusteeship Council for 12 years or 4 terms and on the Economic and
Social Council for 21 years or 7 terms.
fekdk CASE QN fekdk
The title below that best expresses the ideas of the passage is:
(A) India's role at the United Nations
(B) India and Her Neighbours
(C) India's International Prestige
(D) British Colonial Expansion
fekkk CASE QN dekdk (B)

Read the passage below and answer the questions below:

India's role on the international stage was moulded by history rather than by the pomp and circumstances of war.
As a separate entity of the British empire, India became a founder member of the League of Nations in the same
Way as Australia and Canada, and thus acquired a somewhat unique international status long before
independence. During the days of the League when India's interests were affected, such as in matters of trade or
the position of Indians overseas, the Indian delegation did not hesitate to make known its independent position,
for what it was worth. Some Indian delegates were. In demand for chairing meetings riddled with contention
and controversy, because of their reputation for impartiality and talent for mediation. These were the small
beginnings of India's later entry into the United Nations in 1945, again as a founder member before
independence. The drafting of Chapter IX and X of the UN Charter, which deal with international social and
economic cooperation, was entrusted to a group that was presided over by an Indian. It is important, however, to
bear in mind that fact that the Government of independent India had no part in the drafting of the UN Charter,
although in accepted the obligations contained therein. The UN was primarily the creation of three powers-The
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USA, UK and Russia. The size, population, resources and potential of India lent it the weight of a medium
power in the functioning of the United Nations. The fact that India was among the first nations to liberate itself
from the imperialist domination through non-violent means. Endowed it with a moral obligation to work in and
outside the UN for the independence of nations still under colonial rule. India has served on the Security
Council for 10 years or 5 terms, on the Trusteeship Council for 12 years or 4 terms and on the Economic and
Social Council for 21 years or 7 terms.

*kkk CASE QN fkkk

Through a part of the British Empire, India enjoyed great prestige at the League in as much as Indian delegates
were in demand for chairing meeting to consider controversial issues. It was because: (1) Indian delegates were
well known. For their impartiality (II) Indian delegates had talent for mediation (III). India was considered a
power to reckon with:

(A) I and III are correct
(B) I'and II are correct
(C) I and III are correct

(D) only I is correct

*kkk CASE QN whkk
Read the passage below and answer the questions below:

India's role on the international stage was moulded by history rather than by the pomp and circumstances of war.
As a separate entity of the British empire, India became a founder member of the League of Nations in the same
Way as Australia and Canada, and thus acquired a somewhat unique international status long before
independence. During the days of the League when India's interests were affected, such as in matters of trade or
the position of Indians overseas, the Indian delegation did not hesitate to make known its independent position,
for what it was worth. Some Indian delegates were. In demand for chairing meetings riddled with contention
and controversy, because of their reputation for impartiality and talent for mediation. These were the small
beginnings of India's later entry into the United Nations in 1945, again as a founder member before
independence. The drafting of Chapter IX and X of the UN Charter, which deal with international social and
economic cooperation, was entrusted to a group that was presided over by an Indian. It is important, however, to
bear in mind that fact that the Government of independent India had no part in the drafting of the UN Charter,
although in accepted the obligations contained therein. The UN was primarily the creation of three powers-The
USA, UK and Russia. The size, population, resources and potential of India lent it the weight of a medium
power in the functioning of the United Nations. The fact that India was among the first nations to liberate itself
from the imperialist domination through non-violent means. Endowed it with a moral obligation to work in and
outside the UN for the independence of nations still under colonial rule. India has served on the Security
Council for 10 years or 5 terms, on the Trusteeship Council for 12 years or 4 terms and on the Economic and
Social Council for 21 years or 7 terms.

fekdk CASE QN dekkk

(4)

Which articles of the UN Charter deal with International, Social and Economic Co-operation?
(A) Articles IX and X Articles

(B) I'and XII Articles

(C) VI and XIII Articles

(D) VI and VII

fekdk CASE QN dekdk (D)
Read the passage below and answer the questions below:

India's role on the international stage was moulded by history rather than by the pomp and circumstances of war.
As a separate entity of the British empire, India became a founder member of the League of Nations in the same
Way as Australia and Canada, and thus acquired a somewhat unique international status long before
independence. During the days of the League when India's interests were affected, such as in matters of trade or
the position of Indians overseas, the Indian delegation did not hesitate to make known its independent position,
for what it was worth. Some Indian delegates were. In demand for chairing meetings riddled with contention
and controversy, because of their reputation for impartiality and talent for mediation. These were the small
beginnings of India's later entry into the United Nations in 1945, again as a founder member before
independence. The drafting of Chapter IX and X of the UN Charter, which deal with international social and
economic cooperation, was entrusted to a group that was presided over by an Indian. It is important, however, to
bear in mind that fact that the Government of independent India had no part in the drafting of the UN Charter,
although in accepted the obligations contained therein. The UN was primarily the creation of three powers-The
USA, UK and Russia. The size, population, resources and potential of India lent it the weight of a medium
power in the functioning of the United Nations. The fact that India was among the first nations to liberate itself
from the imperialist domination through non-violent means. Endowed it with a moral obligation to work in and
outside the UN for the independence of nations still under colonial rule. India has served on the Security
Council for 10 years or 5 terms, on the Trusteeship Council for 12 years or 4 terms and on the Economic and
Social Council for 21 years or 7 terms.

*kkk CASE QN wkkk

Which of the following countries does not find any coverage in the passage?
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4321

4322

4323

4324

(A) The USA
(B) Britain
(C) The Russia

(D) Sri Lanka

fekdk CASE QN dekkk
Read the passage below and answer the questions below:

India's role on the international stage was moulded by history rather than by the pomp and circumstances of war.
As a separate entity of the British empire, India became a founder member of the League of Nations in the same
Way as Australia and Canada, and thus acquired a somewhat unique international status long before
independence. During the days of the League when India's interests were affected, such as in matters of trade or
the position of Indians overseas, the Indian delegation did not hesitate to make known its independent position,
for what it was worth. Some Indian delegates were. In demand for chairing meetings riddled with contention
and controversy, because of their reputation for impartiality and talent for mediation. These were the small
beginnings of India's later entry into the United Nations in 1945, again as a founder member before
independence. The drafting of Chapter IX and X of the UN Charter, which deal with international social and
economic cooperation, was entrusted to a group that was presided over by an Indian. It is important, however, to
bear in mind that fact that the Government of independent India had no part in the drafting of the UN Charter,
although in accepted the obligations contained therein. The UN was primarily the creation of three powers-The
USA, UK and Russia. The size, population, resources and potential of India lent it the weight of a medium
power in the functioning of the United Nations. The fact that India was among the first nations to liberate itself
from the imperialist domination through non-violent means. Endowed it with a moral obligation to work in and
outside the UN for the independence of nations still under colonial rule. India has served on the Security
Council for 10 years or 5 terms, on the Trusteeship Council for 12 years or 4 terms and on the Economic and
Social Council for 21 years or 7 terms.

*kkk CASE QN L

A)

The word Imperialist here refers to

(A) Person who practice political and monetary dominance
(B) Person of great wealth

(C) A revolutionary

(D) Person who practice dharma

Which country claims to have conducted successful hydrogen bomb test recently?

(A) Iran

(B) Pakistan (B)
(C) North Korea

(D) Israel

Name the CEO of NitiAyog

(A) Amitabh Kant

(B) A. M L Jayashankar (A)
(C) Arvind Subramaniam

(D) Urjit Patel

Which India business leader was elected as chairman of International chamber of commerce?

(A) Lakshmi Mittal

(B) MukeshAmbni (B)
(C) Sunil Mittal

(D) GautamAdani

Longest ever manned-mission to space was launched by: ©
(A)US.A

(B) China
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4331

(C) India

(D) France

Who scored the fastest triple century in test cricket?
(A) Karun Nair

(B) Mathew Hayden

(C) VirenderSehwag

(D) ViratKohli

Which is the first digital state in India?
(A) Maharashtra

(B) Tamil Nadu

(C) Karnataka

(D) Kerala

Who is the chief minister of TN?
(A) Sasikala Natrajan

(B) O. Paneerselvam

(C) K Palaniswami

(D) Siddaramaiah

Indian player who won bronze medal in wrestling at Rio Olympics 2016 ?

(A) Sakshi Malik
(B) Deepa Karmakar
(C) P V Sindhu

(D) Sania Nehwal

Where is the venue for 2020 olympics?
(A) Tokyo

(B) Rio de Janeiro

(C) Hong Kong

(D) Seol

Newly elected prime minister of United Kingdom
(A) Angela Merkel

(B) Theresa May

(C) David Cameron

(D) Nicky Halley

Who won 2016 Nobel Prize in Literature?
(A) Bob Dylan€

(B) Ban Ki-moon

(C) Malala Yusuffasai

(D) Dalai Lama

®)

D)

©

A)

A)
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Name the UN Secretary General
(A) Antonio Guterres

(B) Ban Ki-moon

(C) Kofi Annan

(D) Shinzo Abe

The chief guest of 68th Republic Day celebrations represents:

(A) Saudi Arabia
(B) Qatar
(C) Kuwait

(D) UAE

Who won the Oscar for Best Actor in 2017?
(A) Ben Afflek

(B) Casey Affleck

(C) Leo DiCaprio

(D) Dev Patel

Name the minister for industries in Kerala?
(A) K T Jaleel

(B) Thomas Issac

(C) A.C Moideen

(D) G .Sudhakaran

The largest lake in India is located in
(A) West Bengal

(B) Assam

(C) Karnataka

(D) Jammu and Kashmir

GST is a term associated with
(A) International treaty

(B) Bio-medical Engineering
(C) Taxation

(D) Android application

Which is biggest company by market capitalisation in India?
(A) Wipro

(B) TCS

(©)10C

(D) Reliance

Jeff Bezos is associated with
(A) Pepsico

(B) Amazon

(A)

D)

®)

©

D)

©
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(C) Facebook

(D) Yahoo

Hawana is the capital of
(A) Cuba

(B) Argentina

(C) Peru

(D) Venuzuela

Entomology is the study of
(A) Origin of words

(B) Behaviour of animals
(C) Philosophy of Research

(D) Insects

If force is expressed in Newton and the distance in metre, then the work done is expressed in
(A) Joule

(B) Kg.Wt

(C) Kg.wt.m

(D) Watt

Duckworth Lewis system is associated with
(A) Taxation

(B) Cricket

(C) Insurance calculation

(D) Machine Language

Marshmallow is:
(A) A river

(B) A fighter plane
(C) Android OS

(D) Natural satellite

Amaravati is being developed as the state capital of:
(A) Andhra

(B) Telengana

(C) TN

(D) Karnataka

Who was proposed to be the chairman of the business entity formed by the merger of Idea and Vodafone?
(A) Kumaramangalam Birla

(B) Vittorio Colao

(C) GautamSinghania

(D) Aditya Birla

(4)

D)

(A)

®)

©

A)

(A)
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Rahul Sarma is associated with: (D)
(A) Snapdeal

(B) Flipkart

(C) Myntra

(D) Micromax

Name the first airline to announce a 100% foreign owned airline in India after the change in policy?

(A) British Airways

(B) Emirataes ©
(C) Qatar Airways

(D) Singapore Airlines

Which company sells fruit juices under the brand name Real?

(A) Pepsico

(B) ITC D)
(C) Nestle

(D) Dabur

Which country in 2016 announced demonetisation and reversed it later?

(A) Mexico

(B) Argentina ©)
(C) Venezuela

(D) South Africa



